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Topic:- General Knowledge and Logical Knowledge

1) On which river is the Hirakud Dam built? / 8RS a1- ¢ frg 7 we Affa 82
1. Krishna / I

2. Mahanadi / A8

3. Kaveri / TR

4. Naramada / '_‘W:TET

Correct Answer :-

e Mahanadi/ qslqé

2) Who among the following presided over the historic Lahore session of INC ? / Frafafea 9 3 o= \H’I’Q‘"Fﬂﬁ
¥ e wéR w1 #Y sreagra Bt

1. Jawaharlal Nehru / SIdlgXdld e B
2. Motilal Nehru / HIcaTd A8
3. Gandhiji / TTiefT STt

4, Mohammed Ali Jinnah / JeHq 3felt foraT

Correct Answer :-

o Jawaharlal Nehru/Gﬁ'l-s’?ﬂ'ﬁ‘fﬁﬁ?g

3) Complete the series choosing the missing number: / &I YT TAB @l Eal T PiIg:
1,5,11,19,29,

1. 42

2.48

3.41

4.34

Correct Answer :-

4) The series given below contains a sequence of numbers. Identify the incorrect combination: / CiE| Eﬁ Tlg 3!@?“ 'l?f,

TRST31T T b spH IURYA ¢ | Teid |4 Ugaii=g:

8,13,21, 32,47, 63, 83



1. 47
2.13
3.32

4. 63

Correct Answer :-

o 47

5) Complete the series choosing the missing number: / ToI IS AP YTl E2| T DI
1,2,6,24,120,

1. 230

2.435

3.720

4. 650

Correct Answer :-
o 720

6) If QUICK is coded SSMYQ, then how will CHICKEN be coded? / Tf¢ QUICK &I SSMYQ | HIfSd far siran
2, @ CHICKEN &1 &4 ®ifsd forar s

1. EFNYQYV
2. EFMXQYV
3. EFEMYOYV

4, EFMYQYV

Correct Answer :-

« EFMYQYV

7) Which state in India has the lowest population? / HRd T 5T 30 § g8 & SHESI 872
1. Mizoram / fESIRA

2. Sikkim / RifepH

3. Meghalaya / TgTerd

4. Tripura / Iagz

Correct Answer :-

« Sikkim / Rifgwq

8) Which city was the capital of India from 1772 to 19122 / 1T T WX T 1772 ¥ 1912 TP HRd P AU
U7?

1. Calcutta / hpdl



2. Daulatabad / GAdTTG
3. Delhi / feait
4. Bombay / S

Correct Answer :-

e Calcutta / hcIhdl

9) Which one of the following rivers flows between Satpura and Vidhya ranges / o afear ﬁ@faﬁq?ﬁw

3R faen udaurensit & &g gg<dt &2
1. Sabarmati / STSRHcH

2. Narmada / THg]

3. Machi / H=

4. Tapi / ATq!

Correct Answer :-

e Narmada / m

10) The largest National Park in Madhya Pradesh is / %I UST &1 HaH 9T Trg’m IA R
1. Sardarpur / IXQIRYX

2. Sanjay Sagar / 4o1g IR

3. Chambal / <¥slc]

4, Kanha / H[g
Correct Answer :-
e Kanha/ dIgl

11) If the first day of the year (other than a leap year) was Monday, then which was the last day of the year? /afg

94 &1 9w 1 (@ Siftad & sreman Wiaar o, @t adf o1 snf) fam i un
1. Tuesday / TR

2. Wednesday / §HAR

3. Monday / IHAR

4. Sunday / IfdaR

Correct Answer :-

e Monday / BSILEIN

12) If MAHESH is coded NCIGTJ, then how is NEELAM coded? / af¢ MAHESH & NCIGTJ A ®ifsd faar sirar

8, A1 NEELAM B Y Hifsd fpar s
1. OGFNBO

2. OGFNBN



3. OGGNCO

4. PFGMCN

Correct Answer :-
« OGFNBO

13) If MANAGER is coded NBOBHFS, then how is DIRECTOR coded? / af& MANAGER &Y NBOBHFS A ®if3d
a1 SITdT 8, &t DIRECTOR &) &8 S Sd fhar SR

1. EJSFDVPS
2. EJSGDUPS
3. EJSFDUPS

4. EJSFDUPT

Correct Answer :-
e EJSFDUPS

14) India Gate was built as a memorial to the soldiers of /g‘%’qTﬂ'c", P AP S RS S FUH
CEICIRIPIRY

1. Bangladesh War / SAICR I&
2. World War 11/ @_Cﬂ'q fa”d' &
3. World War I/ U4 fd% g

4. Indo-Pak War 1965 / HRd-UI® & 1965

Correct Answer :-

« World War I/ 9H fdy &

15) India’s First satellite was named after ./ HRADPIUgAISUIG & 9 U 3T T 4TI
1. Varahamihira / IRISIHIER

2. Ramanujam / XTHTISH

3. Bhaskara / HI¥hX

4. Aryabhatta / 3 Hg

Correct Answer :-

 Aryabhatta / 31T5f‘1-4§

16) Who was the first woman to win the Jnanpith Award? / 'il'FﬂﬁE YREPR NIGE IR R EL II'%?IT Cac| A2
1. Prathibha Ray / gfauT

2. Ashapoorna Devi / \’rﬂ"\"l'l'q;UTf &t

3. Mahasweta Devi / AGTHAT Gal

4, Indira Goswami / E'ET[ Tt



Correct Answer :-

 Ashapoorna Devi / GiT‘\’ITq;UTf &t

17) Against which dam was Narmada Bachao Andolan started? / fra Ty F faeg T TN sigha TR™
T rar ur?

1. Sardar Sarovar Dam / TRGR IR Y
2. Bargi Dam ARl 1]
3. Tungabhadra Dam / JITHET §TY

4, Bhakra Nangal Dam / HRGST a1 &Y

Correct Answer :-
e Sardar Sarovar Dam / dRGIR IR Ty

18) In a certain code language don kon bon means he is bad, tak bon kon means he bad man and kon don fil means
water is bad. Then in that code language the words for water man can be / W@Waﬁs YT § don kon bon BT AT
he is bad, tak bon kon T 31 & he bad man 3R kon don Sil PT 31 water is bad _Eﬁ?IT %I e IS U H water man &
fore forr w1 o1 ST fram AT B2

1. moka bon
2. tak fil
3. tak don

4. fil kon

Correct Answer :-
e tak fil

19) In a certain language hist men polt means my history book and polt hosg disa means history of India . Then in
that language the word polt is used for: / T WA HTHT U, hist men polt BT 3l of my history book 3T polt hosg disa

BT 31 nistory of India AT 1 A IT UTHT H polr F o€ fh <rsg o1 T4 fpaT AT B2
1. book

2. India

3. my

4. history

Correct Answer :-

« history

20) The Kinnerasani Wildlife Sanctuary is located in / frAval gaeila SIHURYY Fel UG 82
1. Tamil Nadu / <f8d qarg

2. Telangana / GNEIEI

3. Karnataka / HIicdh



4, Kerala / B

Correct Answer :-

. Telangana/aa" Bl

21) A bag contains 5 red and 4 black balls. Four balls are drawn at random. In how many ways can we draw, so

that there are exactly 2 red balls?/waﬁﬁsmﬁﬁ?4mﬁ3§| Wﬁﬁmm?ﬁﬂgl IEGE
P! H g4 g T FoTa Iod & R fh 31 2 e e gl 82

1. 48
2.24
3.36

4. 60

Correct Answer :-

22) Find the next expression in the series: / eIl H AT UG B FTd BT

ABA, ABBCA, ABBBCDA, _ ?
1. AABBBBBCA

2. AABBBCDA

3. ABBBBBCDA

4. ABBBBCDEA

Correct Answer :-
« ABBBBCDEA

23) Find the odd one out: / U fauH JTd BIfoTT:
3,4,6,8,12, 15,24

1.24
2. 15
3.8

4.3

Correct Answer :-
e 15

24) Find the odd combination of letters and numbers from among the following: /ﬁ'ﬂﬁ'@ﬁ k] \"H&ﬁ Td

130 1 faud S J1d 3y
i. 9876972  ii. 9876927  iii. 9876972 iv. 9876972
1. iii

(7)



Correct Answer :-
e ii

25) Senior National Football Championship Santosh Trophy in 2017 was won by / 2017 § IR I8ty pedra

AR Haty efw! fFae it
1. Goa /AT
2. Jharkhand / IIRES

3. West Bengal / Uiy §e
4. Kerala / PR

Correct Answer :-
+ West Bengal / IEEEDIG]

26) According to India State of Forest Report — 2015, which State has highest forest cover in
percentage terms? / ¥vd 757 §7 RTId-2015F AR 5w woa # ufaxa & g+l &7 Ta 987 a7 STaR0T 32

1. Arunachal Pradesh / ST Lﬁ‘ﬂ
2. Mizoram / ﬁ-l\_fﬁﬂq
3. Andhra Pradesh / Wﬂm

4. Madhya Pradesh / H&] e

Correct Answer :-

e Mizoram / ﬁlﬁhw

27) Which leader from Madhya Pradesh became the Defence Minister first and later Home Minister in

Nehru’s cabinet? / A% UK & DIF Al A% & HATHSH # Uga & =it a9 iR a1 o 77 w=ft a2
1. Shiv Bahadur Singh / {19 5ig1gR ¥

2. Ravi Shankar Shukla / X Qe il

3. Kailash Nath Katju / AT Heq]

4. Shankar Dayal Sharma / RIR &aTd Tt

Correct Answer :-

« Kailash Nath Katju / BRI BIeg]

28) The Khajuraho dance festival is held every year. This celebration is usually done in the month of /

WYRTE! T Ud 8% 94 AT ST 81 9% Ud wr: 59 wre ® weran S g
1. December / fGTmR

2. June / V[d



3. September / Rrawer
4. February / eRE il

Correct Answer :-

o February / TRER]

29) Panch Sheel agreement was announced by / U¥ Y& THgd &1 YU 3% §RT B TRT:

1. Sardar Vallabhai Patel / TRqR deiH ﬂ-ﬂ'ap gcd

2. Mahatma Gandhi / T&T&T et
3. Rajendra Prasad / IJig UG
4. Jawaharlal Nehru / SIATgRAId TBE

Correct Answer :-

« Jawaharlal Nehru / SATERATd g%

30) The Attorney —General of India is appointed by the / HRd & HETRIRIAIS! (3Tl W) B i
o gRI P ot € 2

1. Chief Justice of Supreme Court / Yafe e & qe7 =T
2. The Prime Minister / JTH 3!

3. The President / Qquﬁ

4, The Vice-President / 30U Tl'gflﬁf

Correct Answer :-

e The President / quﬁ

31) The fifth Guru of the Sikhs was / RI&l & Uiwd == 9
1. Guru Gobind Singh / & Tifag Rig

2. Guru Amar Das / R= 3fHRY Q¥

3. Guru Angad Dev /7= 3fTlg Ll

4. Guru Arjan Dev / TR® 3‘|\_{Iqaa

Correct Answer :-

¢ Guru Arjan Dev /T[> 317{[7‘13_0[

32) Complete the series choosing the missing letter/s: / T SI&R/SM&RT DY TADR YT DI GRT BT
ba_b a a

1,a,a,a,b

2.a,a,b,a

3.a,b,a,a



4,b,a,a,a

Correct Answer :-

e a,a,b,a

33) Ujjain was the capital of ancient Avanti and was ruled by / I Ul 3rdd &1 Iy A ofiv
g1 ST JTHA AT

1. Rana Pratap / XTUIT Y4

2. King Ashoka / JHIC KIRIG

3. King Vikramaditya / XTSI [EELIIER
4. Queen Durgavati / I _g';rl'h_cﬁ

Correct Answer :-

« King Vikramaditya / TSIl fawmiica

34) Find the odd one out: / T faww T Eﬁﬁlﬁ:
1. Uncle and Aunt / 3% 3R 3T

2. Sister and Brother / dg- 3h? lﬂ_ﬁt

3. Grandfather and Grandson / GTGT 3R TIdT

4. Father-in-law and Son-in-law / TR 3R STHIG

Correct Answer :-
« Uncle and Aunt / 3ibdl 3R 3

35) Complete the series choosing the missing number: / Y& ST TAB YEAT BI [T HIOIC:
120, 60, 180, 45, 225, ___

1. None of the above / S8 & @IS o1

2. 405/6

3. 225/6

4. 198

Correct Answer :-

o 225/6

36) Select the option that is true about the Statements and Conclusions given: / 39 apeu &1 99 Hﬁﬁﬂ!
i faw T HyET 3R FArow sl & o & TEl @

Statements: / DY:

Some flowers are garlands / $© YW YWUHTET %
Some garlands are trees / PO YWHIAT & %

Conclusions: / fAer:



1. Some trees are garlands / $© & JUHTAT &
I1. Some flowers are trees /| $© T &f &

1. both conclusion I and II follows / Frspd 1 3R 11 _Cﬂ:h SR A %

2. only conclusion I follows / Had fFepy 1 SR DHRdl g

3. only conclusion II follows / e fSHY 1T SFERUI BT §

4, neither conclusion I nor conclusion II follows / = gT ey 18R T g)f Ay 11 SR A %

Correct Answer :-

« only conclusion I follows / FHad fspy 1 STZIRUT Dl g

37) Select the option that is true about the Statements and Conclusions given: / 39 faweu &1 79T aﬂﬁm

WP faw 7T HyET 3R Frewsl & 9 & T8 2

Statements: / PY:
All cups are glasses / It B @ %
All glasses are plates / I W W %

Conclusions: / fspH:
I. All cups are plates / Tt U we %
I1. All plates are cups / I wie $u %

1. both conclusion I and II follows / Fep 1 3R 11 G SR B %

2. only conclusion I follows / Had sy 1 STTARUT hRdl %

3. only conclusion II follows / Hdd Y 11 S{TURUT pdl g

4., neither conclusion I nor conclusion II follows / _Eﬁ ﬁ’@ﬂfl 3‘?[? C é’r ﬁwﬁf IT 3FER0] HIA %

Correct Answer :-

« only conclusion I follows | Had epy | SITERUT DRl %

38) Select the option that is true about the Statements and Conclusions given: / 39 fawey &1 79T ﬁﬁﬁm’
Siifep faw T ST 3k Fewsf & Ty & Tt @

Statements: /| PY:
All hens are ducks / Jaht HﬁfﬂT ELEC) %
Some parrots are not hens /| $© GIG] Hﬁﬁ?ﬂ T E

Conclusions: / fArehd:
I. All ducks are parrots / it gag ?h?r%
II. Some parrots are not ducks / $& GIGECGLC] T-Iﬁ%

1. both conclusion I and II follows / Frspd 1 3R 11 _Cﬁ:ﬁ SR G %

2. only conclusion I follows / Fad fspy 1 STFARUT Dl g

3. only conclusion II follows / Had ﬁmv_ﬁf I1 3R T %

4, neither conclusion I nor conclusion II follows / =1 %of sy 1 3R T 'Eﬁ B SR P %

Correct Answer :-

« neither conclusion I nor conclusion II follows / =1 &1 F45HH 1 3R 7 €t fseef 11 SR CRGE



39) Select the option that is true about the Statements and Conclusions given: / 39 fapeu o1 w09 ﬁ'ﬁﬁrl'q S
% T T YT R el & I § Td) @:

Statements: /| hY:
Some pens are pencils / P& HAH e 'Eﬁ?ﬁ %
Ruler is a pen / HIU} U HaH &

Conclusions: / fewd:
1. Some pencils are pens / Waﬁlﬁ W%
II. Some rulers are pencils /| P& Tt 4R %

1. both conclusion I and II follows / R 1 3R 11 G ST B %

2. only conclusion I follows / pad ﬁ’ml STTIRUT Dl %

3. only conclusion II follows / Had s 11 STTURUT pdl g

4, neither conclusion I nor conclusion II follows /= é)f fep 1 G?IT C €°r Ay 11 SR GG %

Correct Answer :-

 only conclusion I follows / o sy 1 STTIRUT BT %

40) Who was the first woman governor of Uttar Pradesh? / 3t EI%-‘QT Ed| tl??‘ﬂ II'I%ET ISguTd B A2
1. Shardha Mukherjee / RIRGI H’@Gﬁ

2. Sarojini Naidu / RIS qJ1ag

3. Annie Besant / Q:ﬂaﬁ'(f

4, Vijayalakshmi Pandit / [doTa@ien! 4fga

Correct Answer :-

» Sarojini Naidu / RIS g

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? / A &3 7 &F #H, eIl
HIG Bl T IHRE?
f’:ﬂ_/
1.
2. -




2)
If the following two sgquares shown below overlap, which cne of the following options
is formed? / afg ™Fa &) a1 #Tcaftg g1 & O PFa # § &9 91 o AweT a=aT §
1.
2,
3.
AN
4,

Correct Answer :-



3) 5
In the sequence shown below, which figure comes next? / @il 231 IRT &H #H, 39Tl
HTepTer it T AREA?

I 1] I |

| | I I
1 11 11 Tyl

YI

\I

1.

,

3.

4,

Correct Answer :-

Al

4) What is the area of a rhombus whose side is 4.5 cm and diagonal is 5.4 cm? lwmﬁ’ljﬁaﬂ zﬁmwﬁm
oAt Yo 4.5 At § qur fawof 5.4 ft. &2

(14)



1. 12.96 sq em / 12.96 ¥ G,
2. 18.44 sq cm / 18.44 I3 T,
3. 19.44 sq cm / 19.44 ¥ Q.

4. 6.48 sq cm / 6.48 T I,

Correct Answer :-

o 19.44 sq cm/ 19.44 T 4T,

5) The Average of 2 numbers is 24. If the first number is increased by 2 and the last number is decreased by 2.
What is the new average of the two numbers? / 2 T=AT3M BT Gﬁ'\‘ﬁ 24 %I ﬂ'ﬁ"q??ﬁ' =T H 2 aﬂq@m T.ﬁ Silg
IR B TEn A | 2 veT far o, @ 39 &) WEnsii &7 fiad feaw grm?

1. 24
2,23
3.20

4,225

Correct Answer :-

6) A man spends 2/5t of his salary on food, 3/10™" on house rent, and 1/8™ on other expenses. What fraction of his
salary is still left with him? / T SR 3[T9 A BT 2/5 YRT HISH WX, 3/10 HTT 8R & TH1E, 1/8 HIT 37 el
W A FA1 § | SHD U SHP da 1 fora1 4T 3+t off e 82

8
40
1.
6
40
2.
7
5 40
9
40
4,

Correct Answer :-

7) A man swims downstream 12 kmph and upstream 4 kmph; his speed in still water is: /W?ﬂ'ﬁf RT $1 fa=m |

nﬁﬂ’rwﬁrﬁaaﬁ?umaﬂﬁuﬁa%mmﬁnﬁuﬁrﬁaaﬁmﬁmm%;maﬁﬁwﬁm
ddlg:
1. 8 kmph / 8 fob &l Ufd geT



2. 10 kmph / 10 fobeit U geT
3. 4 kmph / 4 T fa ger
4. 5 kmph / 5 fooHi Ofa ©er

Correct Answer :-

« 8 kmph /8 fobdil Ufd ©et

8) What is the time taken by a train of length 200 m to cross a bridge of length 250 m, running at a speed of 45 m/s?

/ 45 Y./, B AT A TA qTelt 200 Y. AGTS ATl IATST Bt 250 Wt TS YA B IR FIA H [pan Ty aanm?
1. 10 sec/ 10 9.
2,25 sec/25 9.
3. 15sec/ 159,

4,20 sec /209,

Correct Answer :-
e 10sec/109.

9) If sum of the digits of a number is 18 less than the number, then what is the digit in the tenth place of the

number? / fe; T BT & 31 BT AT VST A 18 FH §, A TSI P 8T8 & R TR DI At T=AT §2
1.4
2.2
3.1

4.3

Correct Answer :-

10) In an examination, 24 out of 80 students failed in English and 40 % of the students failed in Hindi, while 20 %
of them failed in both the subjects. How many students cleared both the subjects successfully / Tch LEif)] Heodd

24 faremef 3Rieht § srgwhiof 3T 3iiv 40% faemeif & & srgitof gu, s1afe 209 wforsra faendf =y fawat &
Sgchivl gu | fpam faemeif g fawa & awaargde Switvl gu?

1. 48
2.40
3.50

4,32

Correct Answer :-

. 40

11) If the average of 15 numbers is zero, then at least how many of them are positive? / Tfe 15 T=Iman &1 3NTd
T R, 9 ST @ B9 @ o fba SR YT 82

(16)



1.7.5
2.1

3. Zero / [
4. 14

Correct Answer :-

12) Carol, whose pocket money is 2/5 that of Brenda, says, 'The ratio of my pocket money to that of Alice is 4 : 13.'

If the total pocket money they have is USD 81, how much does Brenda have? / W,ﬁmmﬁmﬁém%ﬁatﬁf
$12/5 8, PEAT 8, AR 9T T BT TIPS P Aawd I AU 4: 3 81’ Al I TIPT 99 W 81 SARPI SR T,
A ST BT 9 @ a2

1. USD 12/ 12 SIeR
2. USD 30/ 30 3iaR
3, USD 34/ 34 BIcR

4, USD 39 /39 Sl

Correct Answer :-

« USD 30/30 IR

13) A publisher gives his distributor a discount of 30% on the printed price of the books. The distributor sells these
books to a bookseller at 20% discount on the printed price and the bookseller sells these books at the marked price.
Calculate the profit percentage made by the distributor. / Y UHIAD 3 faar® &t gﬁ?ﬁ TR 3ifhd TR 30%
It ge a1 8 | Fiave gras fassarsi ot siftha Teu W 20% 31 ge a1 8 iR TRa® fashdl 39 sl 3t
Sifrd gea W 99d & | IR g1 v fore 9= arat @y &1 wfa=ra 3 sl

142%

122%
7

4.

Correct Answer :-

14) There are two numbers, 3 and 12. Which number should be added to both these numbers in order to make

them in the ratio of 2 : 5? /ﬂq@lﬂﬁ MR 12 %I Eﬁﬂ'@f@ﬁﬁﬁ??ﬁmﬁﬁ@ﬁm%ﬁ 2:5%\3!3“1?1
o (17)



H gl §mg?
1.6
2.5
3.8

4.3

Correct Answer :-

15) A sells a watch to B at a profit of 20% and B sells it to C at a loss of 10%. If C pays Rs. 432, how much did A
pay for it? / A 7 U TS 20% & AIH TR B Y AxiT 3fiR 3R B A 10% &A1Y WR C B =11 A € 7 432 F0A FT
YAt b, it A A faar yerar faar ure

1. Rs. 500 / 500 3UY
2. Rs. 400 / 400 SGT
3. Rs. 200 / 200 TT

4, Rs. 300 / 300 39T

Correct Answer :-
« Rs. 400/ 400 39

16) The average weight of 24 students of section A of a class is 58 kg whereas the average weight of 26 students of
section B of the same class is 60.5 kg. Find the average weight of all the 50 students of the class. /AP 24 BN &
YR PT 3 58 {1, § Tafs I F&1 & T B F 26 BT S YR BT 34 60.5 1. §1 F&1 & T 50 DA
1 3d YR Jd Bifeg|

1.57.4 kg /57.4 b0
2.59.7 kg /59.7 fopur
3.59.3 kg /59.3 fanurm

4, 58.9 kg / 58.9 TebuT

Correct Answer :-
« 59.3 kg/59.3 T3

17) A cistern can be filled in 10 hours but due to a leak, it takes two more hours for the cistern to get filled. What is
the time taken by the leak to empty a full cistern? / Th BivT 10 T ® YR IPpar %, KICEErsIckd PRI, 3@ YA o
3 ue Siftre @vd €1 e & g1 I 819 &1 et g9 | e ww @i

1. 40 hours / 49 ¢
2. 50 hours / 50 ‘EI%
3. 60 hours / 60 T

4. 30 hours / 30 °¢

Correct Answer :-

« 60 hours / 60 ¢



18) Difference between the ages of Arun and Varun differ by 16 years. Six years ago, Varun's age was thrice as that
of Arun's. Find their present ages? / 30l 3R TFUIHL Gﬂ'ﬁ'ﬁ 16 991 BT AR 21 6 atfqz:‘, T3 Bt Sy 3BT Bt
3T Dt &I T At IAPT TdA MY I BT

1. 20, 36
2. 14,30
3.32,48

4, 12,28

Correct Answer :-
e« 14,30

19) Any 6-digit number formed by repeating 3 digits like 656656 or 486486 is always divisible by: / BIS T} 6 3P

et w=T ford 3 il &t YrRTgh g1 fifta forar T 8, S 656656 AT 486486, Tea =T | U= Bl &:
1.6
2. 11
3.9

4.3

Correct Answer :-

20) A can do a piece of work in 9 days and B in 18 days. They began the work together but 3 days before the
completion of work A leaves. The time taken to complete the work is: / A e FrofRA A P awarg 3 B
S Hrd BY 18 T B THaT 81 3 TP WY 30 BT P BT YR B3 ¢ Afpd d R e & 3 A ugd A
®1d Bie a2 | S WA | ferar rar wwa 2

1.5 days /5 faq
2. 8 days /8 fad
3.7 days /7 f&d

4. 11 days / 11 fa=

Correct Answer :-
« 8days/8faT

21) Which one of the following four addresses is NOT EXACTLY same as the one given below? / 3
& T IR el § 9 - A T d & St TuE B 91 U@ 81 72

Tuna Mahallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey



(i) Tuna Mahallesi,
Sanat Caddesi No: 17/112 Selcuklu Is Merkezi

Bornova 35090 Izmir, Turkey

(ii) Tuna Mahallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey

(iii) Tuna Manallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey

(iv) Tuna Mahallesi,

Sanat Caddesi No: 17/112 Selguklu Is Merkezi
Bornova 35090 Izmir, Turkey

1 iv

2.1

3.l

4. iii

Correct Answer :-

22) CANCELLED

In an election, contested by two candidates, 5% of the votes did not cast their votes. The winning candidate won by 4900
votes, securing 51% of the total votes. How many votes were cast for the winning candidate? /?ﬂ TR GRT ﬁ'@:‘ i)
9T TH AT B, 5% G A A9 HATTIBR BT SUART a1 fhar| e arat weam=it 3 51% Ta ure fg 3R 4900
Al & iR I Sita gTRIe B 1 St aret Y2t o1 fam wa e

1. 35,700
2. 35,500
3. 36,000

4. 35,000

Correct Answer :-

23) CANCELLED

Five years ago, the ratio of ages of P and Q was 3:2. Five years hence, the ratio of the ages of P and Q will be 6: 5.
Find the ratio of the present age of P and Q. /uﬁaﬁfqﬁp 3R Qﬁ\?ﬂg?ﬂ@ﬁ'\‘lﬂﬁﬂ Ut Wﬂ'ﬁfaﬁ, P GﬁTQ

(20)



P 3TY BT 3 6:5 TN P 3R Q Pt IAAT 3ATY HT A I Diorg|
1. 9:7
2.6:5
3.1:2

4,79

Correct Answer :-
o 0.7

24) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / ﬁ%ﬁ

TS el §, &R R T3l &1 U B Fifegd &1 Tord Saisr ugang:
i. tyui8001yuti

ii. tyui8001yuti

iii. tyui8001yuti

iv. tyui0081yuti

1. iv

2.1

3.1

4. iii

Correct Answer :-

25) Find the average. / 3Ha e
17,19, 25, 29,33 & 27

1. 29

2.25

3.31

4. 24

Correct Answer :-

26) If the length of a rectangle is increased by 5%, then its area will increase by: /e &rruaﬁa‘méﬁ 5% aﬂq@m

&t ST, <t 59 &FAee § e i gii:
1. 10%

2. 5%

3.7.5%

4. 25%



Correct Answer :-

e 5%

27) If2p-5=p+7, then what is the value of p? / Tf¢ @l 2p - 5=p + 7, Al p BT W FT TH?
1. None of the above / SURIad H @ﬁﬁ:{ﬁ

2. 12

3. 10

4. 13

Correct Answer :-

28) In a family of three members, three years ago, the average age was 22 years. Due to the birth of a new member, the

average reduced to 19 years. Find the present age of the new born /?ﬁ?mmﬁqﬁaﬂﬁ, ?ﬂﬂatfuj, Gﬁﬂﬁ (1Y 22
o Y | T T o F T & 916, 3N US HR 19 T I8 W4T A TIoId B 34T [T DI

1. 4years/4a'5f
2. 3years/3a'5f
3. 1year/1—qr51T

4. Zyears/ZGEf

Correct Answer :-
e lyear/1 Ty

29) A shirt costs Rs. 350. If the cost is increased by 10 %, then the new cost will be: / Th 3!1?.; &1 ANTd 350 ?Wra %I

Tfe AT § 10 % @1 gix 81 91, a1 7S anTd e ghft:
1. Rs. 360 / 360 ¥
2. Rs. 370/ 370 B0
3. Rs. 365 /365 30U

4, Rs. 385 /385 344

Correct Answer :-

« Rs.385/385 300

30) A train is running at a speed of 60 kmph and crosses a pole in12 sec. What is the length of the train? / 60 it

Afd HeT St 91a A ge- arelt YeTet T GH Bt 12 9. H R R Al 81 ISt B daTs Fg?
1.175m/ 175 4.
2. 200 m /200 H.
3.150 m/ 150 H.

4,125m/ 125 ®I,



Correct Answer :-
« 200 m/200 HI.

Topic:- Science and Simple Arithmetic

1)
AB and CD are two parallel lines. PQ cuts AB and CD at E and F, respectively. EL is the bisector of

£FEB. If ZLEB = 25°, then ~CFQ will be: /AB 3T CD & THHIGR @ &1 AB 3T CD Fi
PQ FHU: E HX F W HIedr gl EL ,FEB FI 8T gl Ile ~LEB=25°, af ~CFQ gRM:

P
A E B
'II‘ x'\_\ )
J'II \\']-.-,‘
C ¥ ‘D
Q
1. 140°
2.130
3.50
4,25

Correct Answer :-

[=}

« 50

? The value of 22 is: /22 a7 77 &
C value Q \‘@IS. .

867

11

17
4,

Correct Answer :-



3)

4.

Correct Answer :-

65

4) -3 5

Find a positive value of x for which the given equation o= g is satisfied. / x <hT UdllcHF HIT

. x% -9 5

w1 #Y, o fore fezm s geeeor-— = A< §
1.3
2.2
3.1
4.4

Correct Answer :-
« 2

5) Birds like kites and eagles can see very well in the day due to: / foferay oz RIS S eft fea o Eﬂ% DRI
5 DI T I W TP &

1. Absence of cone cells as well as rod cells /m@aﬁﬁm&hawmaﬁ Gl mﬁl

2. Equal number of cone cells and rod cells /Wﬂ@ﬂﬁ%ﬁm 3R XTI HIRABIY

3. Large number of cone cells /El_éﬁ A ﬁ?@ CAIREART]

Correct Answer :-
(24)



« Large number of cone cells /EIE?I &= ff?@ HITRTBTSAT

=} (s}
6) ABC is a triangle inscribed in a circle with center O and if LOAB =30 and 'LOCB = 40 , then AABC =

/ ABCTH YT 8 st ¥ 0 F g A S0 2 3R AR C0AB =30 MRL0OCB=40 ,a “ABC=

=}

1. 40

Correct Answer :-

=3

« 70

7) A man invested Rs. 240000 in three parts. On one part he gains 10% and in the second part he invested
16000 more than the first part and lost 5%. On the third he gains 20%. On the whole he gets 9% gain. The
ratio of invested parts are: / T HfrT A T U A 240000 TUA H7 =T fpar| q?ﬁ YR IR I
10% ATY FTo fohar SR gy YT & 39+ Ugd HTT | 16000 I o=t fan ok 5% Pt g g3 1
TR HTT T, I 20% ATH T fHaT1 HYul U= S 9% AT UT fpar FHafRma urm &1 srqurd 2
1.4 :5:6

2.3:4:5

3.2:3:4

4.1:2:3

Correct Answer :-
e 4 :5:6

8 Ina parallelogram ABCD, the bisectors of <A and “B meet at O. The measure of “AOB is: /P

TUiaR gy ABCD #, © A 3R “B & fgue® 0 W frad 81 “A0B #1 AU 3:

1,120

(=}

2.90

[=]

3.45

=}

4, 60

Correct Answer :-

(=]

« 90

9) A square field of side 60 m and a rectangular field of length 80 m have the same perimeter. Then which

of the following is true? / 60 WeX B YOIl AT THR & 3R 80 Hex Tt TS AT ATTATHR & F

(25)



RO T gl da e A I /T I 82

1. Area of the square field = Area of the rectangular field / TR &F FT &TH = ATAGR & BT &THd

2. Area of the rectangular field = Area of the square field / 3{RIATHR & BT AFTHA ~ TNHR &F BT &THd

3. Area of the square field = Area of the rectangular field / TIER &F T &AFBd ~ IADR & BT aAH
4, The difference between their areas is 1200 m? / I EAHE! BT 3R 1200 Hiez? %

Correct Answer :-

« Area of the square field = Area of the rectangular field / TTHR &7 &1 &IHd =~ AAIGR &F BT &THA

10) A girl buys 4 chocolate for Rs. 3 and sells them at 5 chocolates for Rs. 4. How much percentage loss or

gain does she make?lwmsmﬁ4m$mﬁmm%ﬁ4mﬁs
Aldvde & A9 A 3% agd! 71 98 fan ufa=ra g1 ar ary ure et 82

%%

Gain 6 5 % /ST 6

w |k

1.

Loss 6 g % /ETfel 6 5 9%
2.
3.Loss 2% /¢© 2%

4, Gain 2% /Y 2%

Correct Answer :-

Ghain 6 5 % /T 6

11) If x —y=4 and xy =21, thenthevalueofx2+y2is:/?ilﬁx—y=43-ﬁ?'xy=21,?ﬁx2+y2$['q'l:[%:
1.48
2.58
3.16

4, 26

Correct Answer :-

12) A water tank is 3 m long, 2 m broad and 1 m deep. How many litres of water can it hold? / Wtﬂ:ﬁ

P T 3 Hiex ddt, 2 Hew ST v 1 Hex Tgd 21 g8 fhaq ofie? Ul &1 7@ Jodl 82
1. 60 liters / 60 e

2. 60000 liters / 60000 TICR

3. 6000 liters / 6000 TIET

4. 600 liters / 600 e



Correct Answer :-

« 6000 liters / 6000 e

13) A die is thrown. The probability of getting a number greater than 6 is: / TH IR BpT STl HEE:
TS} TSI T § B Wi 3:

1
2

o

3.1

4.0

Correct Answer :-

14) Which one of the following numbers is a cube of rational numbers? / o d 9 o= @ S ufiag
HEA3 BT 9 §2

34
128

2.
3.0.04

4, 0.004

Correct Answer :-

54

128

15) The remainder obtained when 8x? + 14x3 — 2x% + 7x — 8 is divided by 4x2 + 3x — 2 is: / 99 8x* + 14x3 —

2x2 + 7x — 8 DI 4x2 + 3x — 2 A FyuTfora fovar wman 8 & e Awwa &:
1.8x—-6

2.8x+6

3.14x + 10

4. 14x - 10

Correct Answer :-

o 14x-10



16) The last digit of the number (986)°36 is: / T (986)°36 T 3ifaH 3 3:
1.6
2.2
3.4

4.8

Correct Answer :-

17) The part which makes eggs is: / 9§ YRT S &@m%
1. Pistil / TP
2. Calyx / CIUED]
3. Stamen / W

4, Corolla /EH-Q;GT

Correct Answer :-

. Pistil / TPT

18) An uncontrolled nuclear chain reaction forms the basis of: / T =T TfHs CICE L 3rfferan & fAfla
T BT MYR G :

1. Biogas plant /Sta T TUA
2. Hydro electric power station / Wﬁ—g{qﬂ e W=
3. Nuclear reactor / FMY® Y Ruae

4. Atom bomb / TRHTY] §H

Correct Answer :-
e Atom bomb / YIHIT §H

19) A man weighs 72 kg on the earth. His mass on the moon will be: /q@wwmﬁrm HR 72 T, %I SHDT
e R = Soaw g

1. 36 kg / 36 o
2. 12 kg /12 foam.
3. 16 kg / 16 foou.

4. 72kg / 72 .

Correct Answer :-

« 72kg/ 72 fouL.

20) Ureaisa ./WTW_%I



1. nitrogenous ferﬁlizer/?ﬁaﬁ:ﬁm
2. phosphatic fertilizer/ BHIRBT! SaRP

3. potassium fertilizer / TICTRIAH IdRp
4, ferrous ferﬁlizer/?ﬁgﬂqm

Correct Answer :-

« nitrogenous fertilizer /1 Qijl\_yl"'i IR

21) Robert Hooke discovered cells in 1663. What was the specimen that he used to observe cells? / ﬁa‘é‘ga??r 1663

PIRMSTS B Wi B | PIRD13N & aciie & g ufae=l & 0 d = F 3 393 frae suanT faar
1. Phloem / TITTH

2. Xylem / STSTH

3. Cheek cells / 71T 1 DITRTebTS

4, Cork tissue /E\l%é SHddh

Correct Answer :-

e Cork tissue /ﬁ% Gddh

22) Which is the most active type of blood cells, when one gets infectious fever? / e fored} safda &1 '\‘E‘F&Iﬁﬁ?ﬁ
WIAT 8, 99 P T 7o HIRIGTE Gaifie Afeha gidl 82

1. Plasma / Sifaged
2. WBC / Seegaidt
3. RBC/ 3R

4. Platelets /@Eﬁ’c‘}[

Correct Answer :-

« WBC/ Ssegald!

23) Identify the non-infectious disease from the following: | fA A O A TH® THT Hﬁwaﬁ'
il, Syphilis/ﬁlﬁﬁm

2. Rabies / Y&l

3. Goiter / T

4. Cholera /%\__rlT

Correct Answer :-

. Goiter / €T

24) Growth hormone is secreted by: / ?ﬂ:?; BTHIA 59 gRIFIAd gId &
1. Liver gland / g% d Ul



2. Pituitary gland / G UfY
3. Thyroid gland / \?rl'd'g;‘j'fﬁ
4. Adrenal gland / 3ffAIgas T

Correct Answer :-

« Pituitary gland /tﬁqw'r&r

25) River Yamuna is polluted near Delhi due to: / IgAT 4], ﬁﬁ%wugﬁa%,mw%:
1. Water animals /uﬁﬁwﬁaﬁm

2. Rivers joining it / il BT SHH QM IHT

3. Discharge of untreated sewage / &Iﬁwﬁﬁﬂﬂﬁﬁﬁﬁﬁ%ﬂ

4, Thermal plant on its bank / 3% d¢ TR YHd Wiic

Correct Answer :-

« Discharge of untreated sewage / WWW%‘T

26) Bone matrix is rich in: / mﬁﬁwwﬁmsﬁr %:
1. Phosphorous and potassium / BIEPRY 3R TRy

2. Calcium and phosphorous / BTRITH 3R BIEPRY

3. Fluoride and calcium / TIRTSS 3R HfRma

4, Calcium and potassium / BTTH 3R eREH

Correct Answer :-

 Calcium and phosphorous / SITTH 3R BIRBRY

27) A place where animals are protected in their natural habitat is called . /98 A \_rl?ftl"{[ 3=
WIpTaw smard B WRfd f5d o g, Feardr gl

1. Garden / 3<IH
2. Cage / fiSRT
3. Zoo / RfsaTER

4, Wild life sanctuary / 91 S SIHIRTY

Correct Answer :-

« Wild life sanctuary / 9= Sid 3{HARTY

28) One natural phenomenon which cannot be predicted is: / Th ‘;rﬁ[?ﬁl'tﬁ e ot Q\T:I'fﬂ'ﬂ'[ﬁl'd 31 @1 o Pl

1. Floods / dle

2. Cyclonic storms / FehaTcil GLYR|



3. Rain / @9
4, Earthquake / 4T

Correct Answer :-

- Earthquake / YU

29) The radiations absorbed by ozone are: / 3fIeF gRT Sra=nfyd fafeol %
1. Gamma rays / T oot

2. X-rays /Q_CR‘:ﬁ

3. Infra red rays / 3favad fapot

4. Ultraviolet rays / RIS fp=or

Correct Answer :-

« Ultraviolet rays / RIS fopvor

30) When metals react with acids they form corresponding salt and . [ SI9 UTq 3T & 1y Sffuferar
FRal § Al 98 dGJIR THS adT AT 81

1. chlorine / FARM

2. oxygen / SeRfTo

3. hydrogen / _5'13@\—:17[

4, hydroxide / BIRSIFIRS

Correct Answer :-

e hydrogen / 6[33 ol



